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dEI;wVj foKkudEI;wVj foKkudEI;wVj foKkudEI;wVj foKku    
COMPUTER SCIENCE 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 
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(Only for Fresh/Re-appear Candidates) 

le; : 3 ?k.Vs ]  [ iw.kk±d : 40 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 4 rFkk 
iz'u 13 gSaA  
Please make sure that the printed pages in this 
question paper are 4 in number and it contains 
13 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj    rFkk    lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 
Before beginning to answer a question, its Serial 
Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

uksVuksVuksVuksV :  iz'u Øekad 1 ls 4 esa ls dksbZ 3 iz'u dhft,A 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 
iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA     

  Attempt any 3 questions from Question Numbers 
1 to 4. Rest are compulsory.   

  1. fdUgha pkjpkjpkjpkj  buiqV fMokbl dk o.kZu djsaA 4 

 Explain any four input devices. 

  2. dEI;wVj dh çFke tujs'ku dk o.kZu djsaA 4 

 Explain Ist generation of Computer. 

  3. lkW¶Vos;j bathfu;fjax dh ifjHkk"kk nsaA flLVe ,ukfyLV ds dk;Z 
dk o.kZu djsaA 4 

 Define software engineering. Explain the role of 
system analyst. 

  4. esy etZ ds dUlSIV dk mnkgj.k lfgr o.kZu djsaA 4 
 Explain with example of concept of Mail Merge. 

  5. fo.Mks esa QksYMj dks cukus vkSj fMyhV djus ds pj.k fy[ksaA 3 

 Write steps to create and delete folder in Windows. 

  6. ,ClksY;wV vkSj feDLM lsy jsQjsaflax dk mnkgj.k lfgr o.kZu djsaA 3 

 Explain with example of absolute and mixed cell 
referencing. 
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  7. çstsUVs'ku esa dLVe 'kks vkSj ist+ ysvkmV O;w dk o.kZu djsaA 3 

 Explain custom show and page layout view in 
presentation. 

  8. MkVkcsl esa MkVk dks Mkyus vkSj ,fMV djus ds pj.k fy[ksaA 3 

 Write steps for entering and editing data in 
database. 

  9. fDyi vkVZ D;k gS \ 2 

 What is clip art ? 

10. ,Dlsy ds mi;ksx D;k gSa \ 2 

 What is the uses of Excel ? 

11. fMLIys çkiVhZ vkbdu dk mi;ksx D;k gS \ 2 

 What is the use of display properties icon ? 

12. ,d MkWD;wesaV esa QqVj Mkyus ds pj.k fy[ksaA 2 
 Write steps to insert footer to a document. 

13. oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u %iz'u %iz'u %iz'u %  1 × 8 = 8 

 Objective Type questions :  

 (i) ……….. vkbdu dk mi;ksx fMyhV dh xbZ Qkby dks 
j[kus ds fy, gksrk gSA 

  ……….. icon is used to store deleted files.  

 (ii) ,Dlsy 2007 esa odZ'khV dks lso djus dh ,DlVsa'ku  
……….. gSA 

  The extension of Excel 2007 worksheet is  
……….. . 

 (iii) ,d Vscy esa ……….. fofHkUu oSY;w ds lsV ds chp 
fjys'ku n'kkZrk gSA 

  ……….. in a table represent relationship 
among set of values. 
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 (iv) ,d MkVkcsl esa jkW QSDV ……….. dgykrs gSaA 
  Raw facts in a database is called ……….. . 

 (v) ROM dk iw.kZ :i ……….. gSA 
  Full form of ROM is …………. .  

 (vi) gkMZ fMLd ,d ……….. fMokbl gSA 
  (a) buiqV  (b) vkmViqV 
  (c) eseksjh  (d) dksbZ ugha 
  Hard disk is a …………. device. 
  (a) Input (b) Output 
  (c) Memory (d) None 
 (vii) ………. tujs'ku VLSI ekbØksçkslslj ij vk/kkfjr gSA 
  (a) 1st  (b) 2nd 
  (c) 3rd  (d) 4th 
  …………… generation is based on VLSI 

microprocessor. 
  (a) 1st  (b) 2nd 
  (c) 3rd  (d) 4th 

 (viii) fçaV MkW;ykx ckWDl [kksyus dh 'kkVZdV ^dh* ………… 

gSA 
  (a) Ctrl + P (b) Ctrl + Print 
  (c) Ctrl + X (d) dksbZ ugha 
  ……….. shortcut key is used to open print 

dialog box. 
  (a) Ctrl + P (b) Ctrl + Print 
  (c) Ctrl + X (d) None 

s 
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Roll No. 

dEI;wVj foKkudEI;wVj foKkudEI;wVj foKkudEI;wVj foKku    
COMPUTER SCIENCE 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 
[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le; : 3 ?k.Vs ]  [ iw.kk±d : 40 
Time allowed : 3 hours ] [ Maximum Marks : 40 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 4 rFkk 
iz'u 13 gSaA  
Please make sure that the printed pages in this 
question paper are 4 in number and it contains 
13 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj    rFkk    lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 
Before beginning to answer a question, its Serial 
Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written answer. 

SET : B 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

uksVuksVuksVuksV :  iz'u Øekad 1 ls 4 esa ls dksbZ 3 iz'u dhft,A 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 
iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA     

  Attempt any 3 questions from Question Numbers 
1 to 4. Rest are compulsory.   

  1. dEI;wVj flLVe ds CykWd Mk;xzke dk o.kZu djsaA 4 

 Explain block diagram of Computer System. 

  2. fMtkbu O;w }kjk Vscy cukus ds pj.k fy[ksaA 4 

 Write steps to create table using design view. 

  3. SDLC dh losZ LVst+ dk o.kZu djsaA 4 

 Explain survey stage of SDLC. 

  4. ,e0 ,l0-oMZ esa Mªkbax Vwyckj esa ekStwn fofHkUu vkWI'ku dk 
o.kZu djsaA 4 

 Explain various options present in drawing 
toolbar in MS-Word. 

  5. fo.Mks esa QksYMj dks jhuse vkSj fMyhV djus ds pj.k fy[ksaA 3 
 Write steps to rename and delete folder in 

Windows. 

  6. lsy fjQjsaflax dk blds çdkjksa lfgr o.kZu djsaA 3 

 Explain cell referencing with its types. 
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  7. ikWojIokbaV esa ukeZy O;w vkSj LykbM lksVZj O;w dk o.kZu djsaA 3 

 Explain normal view and slide sorter view in 
PowerPoint. 

  8. dEI;wVj dh 2nd tujs'ku dk o.kZu djsaA 3 

 Explain 2nd generation of Computers. 

  9. esy etZ dk mi;ksx D;k gS \ 2 

 What is the use of mail merge ? 

10. ^ekbZ dEI;wVj* vkbdu D;k gS \ 2 

 What is 'My Computer' icon ? 

11. ,Dlsy esa AVG vkSj MIN QaD'ku D;k gS \ 2 

 What is AVG and MIN function in Excel ? 

12. çstsUVs'ku dSls cukbZ tkrh gS \ 2 
 How a presentation is created ? 

13. oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u %iz'u %iz'u %iz'u %  1 × 8 = 8 

 Objective Type questions :  

 (i) RAM dk iw.kZ :i ……….. gSA 
  Full form of RAM is ……….. . 

 (ii) vHkh ds le; [kqyh gqbZ Qkbysa ……….. ckj esa n'kkZ;h 
tkrh gSA 

  Currently opened files are shown in  
……….. bar. 

 (iii) ikWojIokbaV 2007 esa çstsUVs'ku ……….. ,DlVsa'ku ls 
lso dh tkrh gSA 

  In PowerPoint 2007, presentation is saved 
with ……….. extension. 

 (iv) ,Dlsy esa x.kuk djus ds fy, ……….. igys ls fy[ks 
gq, QkewZyk gSaA 

  ……….. are prewritten formulas in Excel to 
do calculations. 
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 (v) ……….. ^dh* dk mi;ksx nks Vscy ds chp fjys'ku 
n'kkZus ds fy, gksrk gSA 

  …………. key is used to show relationship 
between tables.  

 (vi) fçaVj ,d ……….. fMokbl gSA 
  (a) buiqV  (b) vkmViqV 
  (c) eseksjh  (d) dksbZ ugha 
  Printer is a …………. device. 
  (a) Input (b) Output 
  (c) Memory (d) None 
 (vii) 1 KB = ………. ckbV~lA [ KB = fdyksckbV ]  
  (a) 512  (b) 256 
  (c) 128  (d) 1024 
  1 KB = …………… bytes.   [ KB = Kilobytes ] 
  (a) 512  (b) 256 

  (c) 128  (d) 1024 

 (viii) ,d ^jks* dks ………… Hkh dgrs gSaA 
  (a) ,VªhC;wV (b) dkWye 
  (c) Viy  (d) dksbZ ugha 
  A 'row' is also called a ……….. . 
  (a) Attribute (b) Column 
  (c) Tuple (d) None 

s 
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Roll No. 

dEI;wVj foKkudEI;wVj foKkudEI;wVj foKkudEI;wVj foKku    
COMPUTER SCIENCE 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 
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(Only for Fresh/Re-appear Candidates) 

le; : 3 ?k.Vs ]  [ iw.kk±d : 40 
Time allowed : 3 hours ] [ Maximum Marks : 40 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 4 rFkk 
iz'u 13 gSaA  
Please make sure that the printed pages in this 
question paper are 4 in number and it contains 
13 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj    rFkk    lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 
Before beginning to answer a question, its Serial 
Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written answer. 

SET : C 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

uksVuksVuksVuksV :  iz'u Øekad 1 ls 4 esa ls dksbZ 3 iz'u dhft,A 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 
iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA     

  Attempt any 3 questions from Question Numbers 
1 to 4. Rest are compulsory.   

  1. dEI;wVj flLVe ds CykWd Mk;xzke dk o.kZu djsaA 4 

 Explain block diagram of Computer System. 

  2. ,e0,l0-oMZ esa Vscy cukus ds pj.k fy[ksaA 4 

 Write steps to create table in MS-Word. 

  3. izkbejh vkSj vYVjusV ^dh* dk mnkgj.k lfgr o.kZu dhft,A 4 

 Explain with example primary and alternate key.  

  4. SDLC dh VsfLVax LVst+ dk o.kZu djsaA 4 

 Explain testing stage of SDLC. 

  5. lsy] lsy ,Mªsl vkSj lsy jsat dh ifjHkk"kk nsaA 3 

 Define cell, cell address and cell range. 

  6. ikWojIokbaV esa ukeZy O;w vkSj ist+ ysvkmV O;w dk o.kZu djsaA 3 

 Explain normal view and page layout view in 

PowerPoint. 
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  7. fo.Mks esa vlsljht+ esa ekStwn fofHkUu vkWI'ku dk o.kZu djsaA 3 

 Explain different options present in Window 
accessories. 

  8. çkbejh vkSj lsds.Mjh eseksjh dk o.kZu djsaA 3 

 Explain primary and secondary memory. 

  9. LVkVZ eSU;w dk mi;ksx D;k gS \ 2 

 What is the use of start menu ? 

10. çstsUVs'ku esa lkmaM bQsDV dSls tksM+s tkrs gSa \ 2 

 How sound effects can be added to a 
presentation ? 

11. ,e0 ,l0-,Dlsy ds mi;ksx crk,¡A 2 

 Give use of MS-Excel. 

12. fçaV fçO;w dk mi;ksx D;k gS \ 2 
 What is the use of print preview ? 

13. oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u %iz'u %iz'u %iz'u %  1 × 8 = 8 

 Objective Type questions :  

 (i) CU dk iw.kZ :i ……….. gSA 
  Full form of CU is ………..  . 

 (ii) ……….. dks dEI;wVj dk tud ekuk tkrk gSA 
  ……….. is known as the father of 

Computers. 

 (iii) ,d MkVkcsl esa ,VªhC;wV dh la[;k ……….. dgykrh gSA 
  The numbers of attributes in a database is 

called ……….. . 

 (iv) ……….. dhoMZ dk mi;ksx ,d dkWye esa ekStwn oSY;w dk 
uacj crkus ds fy, gksrk gSA 

  ……….. keyword is used to find the number 
of values in a column. 
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 (v) fo.Mks 7 ,d ……….. flLVe gSA 
  Windows 7 is an …………. system.  

 (vi) oSD;we V~;wc dk mi;ksx dEI;wVj dh ……….. tujs'ku 
esa 'kq: gqvk FkkA 

  (a) 1st  (b) 2nd 
  (c) 3rd  (d) 4th 
  Vacuum tubes started in …………. generation 

of Computer. 
  (a) 1st  (b) 2nd 
  (c) 3rd  (d) 4th 
 (vii) ,Dlsy esa QkewZyk ………. vkWijsVj ls 'kq: gksrk gSA 
  (a) = =  (b) ! = 
  (c) =  (d) dksbZ ugha 
  In Excel, a formula starts with …………… 

operators. 
  (a) = =  (b) ! = 
  (c) =  (d) None  

 (viii) ,d LykbM dks dV djus dh 'kkVZdV ^dh* ………… gSA 
  (a) Ctrl + C (b) Ctrl + X 
  (c) Ctrl + V (d) Ctrl + P 
  Shortcut key to cut a slide is ……….. . 
  (a) Ctrl + C (b) Ctrl + X 
  (c) Ctrl + V (d) Ctrl + P 

s 
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CLASS : 10th (Secondary) Code No. 4223 
Series : Sec. M/2019 

Roll No. 

dEI;wVj foKkudEI;wVj foKkudEI;wVj foKkudEI;wVj foKku    
COMPUTER SCIENCE 

(Academic/Open) 

 [ fgUnh ,oa vaxzsth ek/;e ] 
[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le; : 3 ?k.Vs ]  [ iw.kk±d : 40 
Time allowed : 3 hours ] [ Maximum Marks : 40 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 4 rFkk 
iz'u 13 gSaA  
Please make sure that the printed pages in this 
question paper are 4 in number and it contains 
13 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj    rFkk    lsVlsVlsVlsV dks 
Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
The Code No. and Set on the right side of the 
question paper should be written by the candidate 
on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 
Before beginning to answer a question, its Serial 
Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written answer. 

SET : D 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the 
question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 
have been supplied the correct and complete 
question paper, no claim in this regard, will be 
entertained after examination. 

uksVuksVuksVuksV :  iz'u Øekad 1 ls 4 esa ls dksbZ 3 iz'u dhft,A 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 'ks"k lHkh 
iz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaAiz'u vfuok;Z gSaA     

  Attempt any 3 questions from Question Numbers 
1 to 4. Rest are compulsory.   

  1. fofHkUu çdkj dh eseksjh dk o.kZu djsaA 4 

 Explain various types of memory. 

  2. MkVkcsl esa MkVk dks ,fMV vkSj O;w djus ds pj.k fy[ksaA 4 

 Write steps for editing and view data in database. 

  3. SDLC esa QSDV fjdkMZ djus ds rjhdksa dk o.kZu djsaA 4 

 Explain methods of recording facts in SDLC. 

  4. iSjkxzkQ QkesZfVax ds fdUgha pkjpkjpkjpkj vkWI'ku dk o.kZu djsaA 4 
 Explain any four options in paragraph formatting. 

  5. dEI;wVj dh 3rd tujs'ku dk o.kZu djsaaA 3 

 Explain 3rd generation of Computers. 

  6. fMLIys çkiVhZ ds Qhpj dk o.kZu djsaA 3 

 Explain features of display properties. 

  7. çstsUVs'ku esa Vkbfeax bQsDV tksM+us ds pj.k fy[ksaA 3 

 How timing effects can be added to a 
presentation ? 
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  8. lsy jsQjsaflax ds çdkjksa dk o.kZu djsaA 3 

 Explain types of cell referencing. 

  9. ,Dlsy esa fuEu QaD'ku dks ifjHkkf"kr djsa %  2 
SUM ( ), COUNT ( ) 

 Define following functions in Excel : 

SUM ( ), COUNT ( ) 

10. ,d MkWD;wesaV esa gsMj dSls Mkys tk ldrs gSa \ 2 

 How headers can be inserted in a document ? 

11. ikWojIokbaV ds mi;ksx D;k gSa \ 2 

 What are the uses of PowerPoint ? 

12. baVjusV ,DlIyksjj vkbdu dk mi;ksx D;k gS \ 2 
 What is the use of internet explorer icon ? 

13. oLrqfu"BoLrqfu"BoLrqfu"BoLrqfu"B    iz'u %iz'u %iz'u %iz'u %  1 × 8 = 8 

 Objective Type questions :  

 (i) CPU dk iw.kZ :i ……….. gSA 
  Full form of CPU is ……….. . 

 (ii) MkVkcsl esa ,d dkWye dks ……….. Hkh dgrs gSaA 
  A column in database is also called ……….. . 

 (iii) ,d odZcqd ……….. dk laxzg gSA 
  A workbook is a collection of ……….. . 

 (iv) fo.Mks 7 ……….. ij vk/kkfjr vkWijsfVax flLVe gSA 
  Windows 7 is ……….. based Operating 

System. 

 (v) Nqih gqbZ LykbM~l ……….. ds le; çn'kZr ugha gksrh gSA 
  (a) ukeZy O;w (b) LykbM lksVZj O;w 
  (c) LykbM 'kks (d) dksbZ ugha 
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  The hidden slides are not displayed during 
………….. . 

  (a) Normal view (b) Slide sorter view 
  (c) Slide show (d) None 

 (vi) dhcksMZ ,d ……….. fMokbl gSA 
  (a) buiqV  (b) vkmViqV 
  (c) eseksjh  (d) dksbZ ugha 
  Keyboard is a …………. device. 
  (a) Input (b) Output 
  (c) Memory (d) None 
 (vii) 1 ckbV = ………. fcV~lA 
  (a) 4  (b) 8 
  (c) 64  (d) 1024 
  1 byte = ………… bits. 
  (a) 4  (b) 8 
  (c) 64  (d) 1024 

 (viii) ………… dekaM dk mi;ksx Vscy esa dkWye esa cnyko 
djus ds fy, gksrk gSA 

  (a) viMsV  (b) lsV 
  (c) Øh,V  (d) vkWYVj 
  ……….. command can be used to modify 

column in a table. 
  (a) Update (b) Set 
  (c) Create (d) Alter 

s 


